Crpanuua / Page 3 4 4

5000 5010 5020
Nut Metric Sleeve Sleeve
CtpaHuua / Page 5 5 6 7 7

-

L

I i [ ] %
il ==
77
5050 5055 5035 5056 5060
Swivel Connector Swivel Union Swivel Connector Swivel Reduction 90°Swivel Elbow
M UNF x FJIC M Jic x F Jic MBSP x FJIC M Jic x F Jic FJIC xMJIC

Crpanuua / Page

5070 5080 5090 5260
45°Swivel Elbow Run Tee Swivel Branch Tee Swivel Swivel Connector
FJICxMJIC Connector Connector F NPSM x M NPTF

Crtpanuua / Page 10

i
i “\k

il

NN fnsci
1900 5110 5100 5130 5114
Union Bulkhead Union 90€Elbow Union 90°Bulkhead Bulkhe ad 45°Union Elb.
Elbow Union Jic

CrtpaHuua / Page 14

i
'IJ‘\H””\I
Jl:
%

5120 5135 5137 5900

Union Tee Bulkhead Run Tee Bulkhead Branch Tee Union Cross

Ctpanuua / Page

1906 5140 5160 5150 5170 5180
Male Connector 90°Elbow Connector Run Tee Connector 4 5°Elbow Connector Branch Tee Connector Male-Female C onnector
M JIC x M NPTF M JIC x M NPTF Jic-Jic-NPTF M JIC x M NPTF Jic-NPTF-Jic M JIC x F NPTF

Dimensions and general characteristics may be chang ed at any time without prior notice.

Data contained herein are for information purpose only, and it does not enlarge, amend or imply any warranty other than provided by us with the product
Any use of the product not in conformance with our instructions may be dangerous.

1-F



| 44

j J

WiHypress |18

DD Apentepsl JIC

Crtpanuua / Page 18 18 19

2

CtpaHuua / Page 20 21 22 23

1907 5205 5190
Male Connector Long Male Connector 90°Elbow Connecto r Long Adjustable Elbow 45°Elbow Connector
M JIC x M UNF M Jic x M UNF UNF Orientable UNF Orientable UNF Orientable

coercerey ! EF*W%/ |
:
5210 5220 1905 1915 5185
Run Tee Connector Branch Tee Connector Male Connector Male Connector Male-Female Connector
UNF Orientable UNF Orientable MJIC x M BSP M Jic x M BSP or M JIC x F BSP

Crtpanuua / Page 23

5230 5235 5240 5250 5255 5036
90°Elbow Connector Adjustable 45°Elbow Run Tee Conn ector Branch Tee Connector  Adj. Elb. with swivel nut Swivel Connector
BSP Orientable MJIC x M BSP BSP Orientable BSP Orientable FJIC x M BSP F JIC x M BSP or (ED)
Crpanuua / Page 27 29 30
// 7 Z 2
1903 5165 5265 5275 5280
Male Connector 90°Elbow Connector 45°Elbow Connecto r Run Tee Connector Branch Tee Connector
M Jic x M BSPT M JIC x M BSPT M JIC x M BSPT Jic-Jic-BSPT Jic-BSPT-Jic

CrtpaHuua / Page

1777 5395 5400 5405 5410 5425
Male Connector Long Male Connector Adjustable Elbow Long Adjustable Elbow Adjustable 45°Elbow Adjustable Branch Tee
M Jic x M Metric M Jic x M Metric M JIC x M Metric M JIC x M Metric M JIC x M Metric JIC - JIC - Metric
Crpanuua / Page 35 36 36
5420 5037 5040 J605 J608
Adjustable Run Tee Swivel Connector SAE Plug JIC Male Plug JIC Female Plug
JIC - Metric - JIC F JIC x M Metric or (ED) Swivel

Dimensions and general characteristics may be chang ed at any time without prior notice.

Data contained herein are for information purpose only, and it does not enlarge, amend or imply any warranty other than provided by us with the product
Any use of the product not in conformance with our instructions may be dangerous.

2-F



JIC Adaptors

Manka
Nut
L
[ N —
part number
. om [ nch | F [ L | E [ |
5000-04 7/16" - 20
—-—————
5000-06 10 3/8" 9/16" - 18
—-—————
5000-10 16 5/8" 7/8" - 14
—-—————
5000-16 1.5/16" - 12
—-—————
5000-24 38 1-1/2" 1.7/8" - 12

Fluid Power Care 3-F

IMM Group



il ypress l’l,l' =

JIC Adaptors

Il iimm.

5010

5020

Konbuo Bpe3Hoe MeTpuyeckoe

Sleeve for inches tube

-

“_

5010-06

5010-10

5010-14

5010-16

5010-20

5010-30

5010-38

Konbuo aronmoBoe L

Sleeve for inches tube

-

pal‘t number -
“_

5020-04
W_____
w_____
ﬁ_____
______

5020-24 1.1/2" 1.1/2"

Fluid Power Care

IMM Group



Yl MM,

5050

5055

KoHHekTop JIC X UNF

Connector swivel JIC female X UNF male

Pe3bb6a/ Thread:
UNF/UN (ISO 11926-1)

-

—

R

. mm [ nch | F | T Jc JL [H [E [ |

5050-04 6 1/4" 7/16" - 20 7/16" - 20 9 33 15 14

5050-05 8 5/16" 1/2" - 20 1/2" - 20 9 34 17 17

5050-06 10 3/8" 9/16" - 18 9/16" - 18 10 36 19 17

5050-08 12 1/2" 3/4" - 16 3/4" - 16 11 42 24 22

5050-10 16 5/8" 718" - 14 7/8" - 14 13 47 27 27

5050-12 20 3/4" 1.1/16"-12 1.1/16"-12 15 51 32 32

5050-16 25 1" 1.5/16"-12 1.5/16"-12 15 58 38 38

5050-20 32 1-1/4" 15/8"-12 15/8"-12 15 63 50 50

5050-24 38 1-1/2" 1.7/8" - 12 1.7/8" - 12 15 68 55 55

L
B

Apantep JIC
Swivel Union M/F JIC L

part number

5055-04
5055-05
5055-06
5055-08
5055-10
5055-12
5055-16
5055-20
5055-24
5055-32

@ tube

6

1/4"
5/16"
3/8"
1/2"
5/8"
3/4"
1"
1-1/4"
1-1/2"
o

7/16" - 20
1/2" - 20
9/16" - 18
3/4" - 16
7/8" - 14
1.1/16" - 12
1.5/16" - 12
1.5/8" - 12
1.7/8" - 12
2.1/2"-12

7/16" - 20
1/2" - 20
9/16" - 18
3/4" - 16
7/8" - 14
1.1/16" - 12
1.5/16" - 12
1.5/8" - 12
1.7/8" - 12
2.1/2"-12

12
14
15
19
24
27
34
42
50
65

H
e
S




Yl it

5035 KoHHekTop JIC X BSP

C
Connector swivel JIC female X BSP male <'E1L\

Pe3bb6a/ Thread: L
BSPP (I1SO 1179-3)

part number -

[ om | neh | F | T _Jc L |H |E | |
28 15 14

5035-04-02 6 1/4" 7/16" - 20 1/8"-28 8

5035-04-04 6 1/4" 7/16" - 20 1/4"-19 11 33 15 19
5035-04-06 6 1/4" 7/16" - 20 3/8"-19 11 36 15 22
5035-04-08 6 1/4" 7/16" - 20 1/2"-14 15 41 15 27
5035-05-04 8 5/16" 1/2" - 20 1/4"-19 11 34 17 19
5035-05-06 8 5/16" 1/2" - 20 3/8"-19 1 37 17 22
5035-06-04 10 3/8" 9/16" - 18 1/4"-19 11 35 19 19
5035-06-06 10 3/8" 9/16" - 18 3/8"-19 11 36 19 22
5035-06-08 10 3/8" 9/16" - 18 1/2"-14 15 41 19 27
5035-08-04 12 172" 3/4" - 16 1/4"-19 11 36 24 19
5035-08-06 12 172" 3/4" - 16 3/8"-19 11 39 24 22
5035-08-08 12 172" 3/4" - 16 1/2"-14 15 43 24 27
5035-10-06 16 5/8" 7/8" - 14 3/8"-19 11 43 27 22
5035-10-08 16 5/8" 7/8" - 14 1/2"-14 15 47 27 27
5035-10-12 16 5/8" 7/8" - 14 3/4"-14 15 49 27 32
5035-12-08 20 3/4" 1.1/16" - 12 1/2"-14 15 49 32 27
5035-12-12 20 3/4" 1.1/16" - 12 3/4"-14 15 49 32 32
5035-12-16 20 3/4" 1.1/16" - 12 1"-11 19 55 32 41
5035-16-12 25 1" 1.5/16" - 12 3/4"-14 15 52 38 32
5035-16-16 25 1" 1.5/16" - 12 1"-11 19 58 38 41
5035-16-20 25 1" 1.5/16"-12 1.1/4"-11 19 63 38 50
5035-20-16 32 1-1/4" 1.5/8"-12 1"-11 19 58 50 41
5035-20-20 32 1-1/4" 1.5/8" - 12 1.1/4"-11 19 63 50 50
5035-24-24 38 1-1/2" 1.7/8"-12 1.1/2"11 19 69 55 55




5056

5060

ApanTep peayKUnOoHHbIN JIC

Swivel Reduction M/F JIC

part number

5056-06-04
5056-06-05
5056-08-04
5056-08-05
5056-08-06
5056-10-04
5056-10-06
5056-10-08
5056-12-04
5056-12-06
5056-12-08
5056-12-10
5056-16-10
5056-16-12
5056-20-12
5056-20-16
5056-24-12
5056-24-16
5056-24-20

Dimensions

IIIIIMHIIIIIIIIIIIIIIIBIIIIIIIIEIIIIIII

10
12
12
12
16
16
16
20
20
20
20
25
25
32
32
38
38
38

3/8"
3/8"
172"
172"
172"
5/8"
5/8"
5/8"
3/4"
3/4"
3/4"
3/4"
1"
1

1.1/4"
1.1/4"
1.1/2"
1.1/2"
1.1/2"

KoHHekTop 90°JIC

9/16" - 18
9/16" - 18
3/4" - 16
3/4" - 16
3/4" - 16
7/8" - 14
7/8" - 14
7/8" - 14
1.1/16" - 12
1.1/16" - 12
1.1/16" - 12
1.1/16" - 12
1.5/16" - 12
1.5/16" - 12
1.5/8" - 12
1.5/8" - 12
1.7/8" - 12
1.7/8" - 12
1.7/8" - 12

90°connector swivel JIC female X JIC male

part number

5060-04
5060-05
5060-06
5060-08
5060-10
5060-12
5060-16
5060-20
5060-24
5060-32

@ tube

7/16" - 20
1/2" - 20
7/16" - 20
1/2" - 20
9/16" - 18
7/16" - 20
9/16" - 18
3/4" - 16
7/16" - 20
9/16" - 18
3/4" - 16
7/8" - 14
7/8" - 14
1.1/16" - 12
1.1/16" - 12
1.5/16" - 12
1.1/16" - 12
1.5/16" - 12
1.5/8" - 12

14
14
14
14
14
14
17
14
14
17
19
19
22
22
23
22
23
24

Dimensions

23
24
24
24
25
25
28
27
27
30
32
34
36
39
40
41
42
43

19
22
22
22
27
27
27
32
32
32
32
41
41
50
50
60
60
60

© |

NOSN

—

IIIIIMHIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

8
10
12
16
20
25
32
38
50

1/4"
5/16"
3/8"
172"
5/8"
3/4"
1"

1.1/4"
1.1/2"

o

7/16" - 20
1/2" - 20
9/16" - 18
3/4" - 16
7/8" - 14
1.1/16" - 12
1.5/16" - 12
1.5/8" - 12
1.7/8" - 12
2.1/2"-12

7/16" - 20
1/2" - 20
9/16" - 18
3/4" - 16
7/8" - 14
1.1/16" - 12
1.5/16" - 12
1.5/8" - 12
1.7/8" - 12
2.1/2"-12

26
29
32
35
41
44
50
59
66
78

26
26
32
36
40
42
52
59
85

16
19
24
27
32
38
50
60
66

14
14
19
22
27
34
41
48
70




Jiiikypress

« &
5070 KoHHekTOp 45°JIC
E
45°connector swivel JIC female X JIC male
H
|
T
-
part number
5070-04 6 1/4" 7/16" - 20 7/16" - 20 24 19 16 14
5070-05 8 5/16" 1/2" - 20 1/2" - 20 25 21 16 14
5070-06 10 3/8" 9/16" - 18 9/16" - 18 25 21 19 14
5070-08 12 1/2" 3/4" - 16 3/4" - 16 32 29 24 19
5070-10 16 5/8" 718" - 14 718" - 14 34 29 27 22
5070-12 20 3/4" 1.1/16"-12 1.1/16"-12 38 33 32 27
5070-16 25 1" 1.5/16"-12 1.5/16"-12 44 48 38 33
C

5080 TpoWHuk 60KoBas ramka _j ——@ |

Female run tee |

Tr
-

| mm | nch [ F [ T Jc L [H]E ] |
6 23 15 11

5080-04 1/4" 7/16" - 20 7/16" - 20 25

5080-05 8 5/16" 1/2" - 20 1/2" - 20 27 24 17 13
5080-06 10 3/8" 9/16" - 18 9/16" - 18 32 27 19 14
5080-08 12 1/2" 3/4" - 16 3/4" - 16 35 32 24 19
5080-10 16 5/8" 7/8" - 14 7/8" - 14 41 37 271 22
5080-12 20 3/4" 1.1/16"-12 1.1/16"-12 44 42 32 27
5080-16 25 1" 1.5/16"-12 1.5/16"-12 51 46 38 33
5080-20 32 1.1/4" 158"-12 15/8"-12 58 52 50 41




Jiiikypress

5090  TpOMWHUK HMXKHAA ranka ——@
Female branch tee '—L:mlmm] “Imi"

F

part AUmbeEr g e -

L F | T Jc ]l [H JE [
6

5090-04 1/4" 7/16" - 20 7/16" - 20 25 26 15 14
5090-05 8 5/16" 1/2" - 20 1/2" - 20 24 27 17 14
5090-06 10 3/8" 9/16" - 18 9/16" - 18 26 30 19 14
5090-08 12 1/2" 3/4" - 16 3/4" - 16 32 3 24 19
5090-10 16 5/8" 718" - 14 718" - 14 37 41 27 22
5090-12 20 3/4" 1.1/16"-12 1.1/16"-12 42 44 32 27
5090-16 25 1" 1.5/16"-12 1.5/16"-12 46 52 38 33
5090-20 32 1.1/4" 15/8"-12 15/8"-12 52 59 50 41
5260 » L
Mpsimon koHHekTOp NPSM X NPTF
Straight connector NPSM female X NPTF male _@

U_L
Pe3bb6a/ Thread:

NPT (ANSI/ASME B1.20.1-1983)

part AUmbeEr g e

5260-02 6 1/4" 1/8" - 28 1/8" - 28 10 28 14 13
5260-04 8 5/16" 1/4"-18 1/4"-18 14 36 19 15
5260-06 10 3/8" 3/8" - 18 3/8" - 18 14 39 22 19
5260-08 12 1/2" 1/2" - 14 1/2" - 14 19 48 27 27
5260-12 20 3/4" 3/4" - 14 3/4" - 14 19 53 32 32
5260-16 25 1" 1"-115 1"-115 24 61 38 36




iy press

1900

5110

KoHHeKkTOp HapyXHas pe3bba

Male connector

part number

1900-04-04
1900-05-05
1900-06-06
1900-08-08
1900-10-10
1900-12-12
1900-16-16
1900-20-20
1900-24-24
1900-32-32

@ tube

6 1/4"
8 5/16"
10 3/8"
12 1/2"
16 5/8"
20 3/4"
25 1"
32 1.1/4"
38 1.1/2"
50 2"

7/16" - 20
1/2" - 20
9/16" - 18
3/4" - 16
7/8" - 14
1.1/16" - 12
1.5/16" - 12
1.5/8" - 12
1.7/8" - 12
2.1/2"-12

Mpsimon nepebopPOYHbIN KOHHEKTOP

Straight Bulkhead Union

part number

5110-04
5110-05
5110-06
5110-08
5110-10
5110-12
5110-16
5110-20
5110-24

6

@ tube

1/4"
5/16"
3/8"
1/2"
5/8"
3/4"
1"
1.1/4"
1.1/2"

T

| om ] nch | F | L __Jc B [H JE |

7/16" - 20
1/2" - 20
9/16" - 18
3/4" - 16
7/8" - 14
1.1/16" - 12
1.5/16" - 12
1.5/8" - 12
1.7/8" - 12

53
53
55
62
70
79
80
84
89

17
19
22
24
30
36
41
50
55

13
14
16
19
24
27
36
46
50

10-F



JiiliHypress

5100 90° apanTep A
90°Elbow Union L _M ) ‘

part number @ tube Dimensions

5100-04 6 1/4" 7/16" - 20 22 14
5100-05 8 5/16" 1/2"- 20 25 14
5100-06 10 3/8" 9/16" - 18 26 14
5100-08 12 12 3/4" - 16 31 19
5100-10 16 5/8" 7/8" - 14 34 22
5100-12 20 34 1.116" - 12 a1 27
5100-16 25 1" 1.5/16" - 12 50 35
5100-20 32 1.1/4" 1.5/8"-12 56 44
5100-24 38 1.1/2" 1.7/8" - 12 61 50
5100-32 50 2 212" - 12 75 65
L
B
5130 MNepe6opouHbi aganTtep 90° ©

| i—

Bulkhead 90° Elbow Union ._._l | | ol
R EIAA IS

& 5 N
|

-

| om ] nch | F | . c __[L B [H |E |
6 41 28 17 11

5130-04 1/4" 7/16" - 20 25

5130-05 8 5/16" 1/2" - 20 27 44 28 19 14
5130-06 10 3/8" 9/16" - 18 28 46 30 22 14
5130-08 12 1/2" 3/4" - 16 35 54 35 24 19
5130-10 16 5/8" 7/8" - 14 40 61 39 30 22
5130-12 20 3/4" 1.1/16" - 12 45 68 43 36 27
5130-16 25 1" 1.5/16" - 12 50 71 43 41 33
5130-20 32 1.1/4" 1.5/8"-12 55 79 44 50 41

11-F



iy press

5114 MepebopouHbIi aganTep 45° 9
Bulkhead 45°Elbow Union j:m“m““m_H S

-

L om ] nch | F | T |8 Jc [H JE [
17 14

5114-04 6 1/4" 7/16" - 20 7/16" - 20 19 39
5114-05 8 5/16" 1/2" - 20 1/2" - 20 19 42 19 14
5114-06 10 3/8" 9/16" - 18 9/16" - 18 21 43 22 14
5114-08 12 1/2" 3/4" - 16 3/4" - 16 25 49 24 19
5114-10 16 5/8" 7/8" - 14 7/8" - 14 28 55 30 22
5114-12 20 3/4" 1.1/16"-12 1.1/16"-12 33 62 36 27
5114-16 25 1" 1.5/16"-12 1.5/16"-12 38 65 41 33
5114-20 32 1-1/4" 15/8"-12 15/8"-12 41 67 50 41
5114-24 38 1-1/2" 1.7/8"-12 1.7/8"-12 45 68 55 48
L
B

5120  TpoWnHuk ‘
Union Tee ' 2"‘,4% @)

F

part AUmbeEr g e -

[ om ] nch | F | _c __|L | B __JE |

[

5120-04 6 1/4" 7/16" - 20 26 52 26 14
5120-05 8 5/16" 1/2" - 20 24 48 24 14
5120-06 10 3/8" 9/16" - 18 26 52 26 14
5120-08 12 1/2" 3/4" - 16 32 64 32 19
5120-10 16 5/8" 7/8" - 14 32 64 32 22
5120-12 20 3/4" 1.1/16" - 12 42 84 42 27
5120-16 25 1" 1.5/16" - 12 46 92 46 35
5120-20 32 1.1/4" 1.5/8"- 12 52 104 52 44
5120-24 38 1.1/2" 1.7/8" - 12 59 118 59 50
5120-32 50 2" 2.1/2"-12 78 156 78 65




Yl MM,

5135

5137

TponHMK nepebopoUHbLIN GOKOBOE |

Bulkhead male run tee

part number

5135-04
5135-05
5135-06
5135-08
5135-10
5135-12
5135-16
5135-20
5135-24

6
8
10
12
16
20
25
32
38

@ tube

1/4"
5/16"
3/8"
1/2"
5/8"
3/4"
1"
1-1/4"
1-1/2"

=

Dimensions

[ om ] nch | F | |8 Jc [H |E |

7/16" - 20
1/2" - 20
9/16" - 18
3/4" - 16
7/8" - 14
1.1/16" - 12
1.5/16" - 12
1.5/8" - 12
1.7/8" - 12

TpPONHUK NnepebopPOYHbLIN HUXKHEe No)

Bulkhead male Branch tee

part number

5137-04
5137-05
5137-06
5137-08
5137-10
5137-12
5137-16
5137-20
5137-24

6

@ tube

1/4"
5/16"
3/8"
1/2"
5/8"
3/4"
1"
1-1/4"
1-1/2"

17
19
22
24
30
36
41
50
55

14
14
14
19
22
27
33
41
48

F

Dimensions

[ om ] nch | F | |8 JcC [H |E |

7/16" - 20
1/2" - 20
9/16" - 18
3/4" - 16
7/8" - 14
1.1/16" - 12
1.5/16" - 12
1.5/8" - 12
1.7/8" - 12

17
19
22
24
30
36
41
50
55

14
14
14
19
22
27
33
41
48




| 449

] |

Viilaiy/press |0 C

L

uil

MM,

5900

1906

X-apanTep JIC

Union Cross JIC

part number

5900-04
5900-05
5900-06
5900-08
5900-10
5900-12
5900-16
5900-20
5900-24

KoHHekTOop NPTF X JIC

Male connector NPTF male X JIC male

Pe3bb6a/ Thread:
NPT (ANSI/ASME B1.20.1-1983)

part number

1906-02-04
1906-02-05
1906-02-06
1906-04-04
1906-04-05
1906-04-06
1906-06-06
1906-06-08
1906-06-10
1906-08-04
1906-08-06
1906-08-08
1906-08-10
1906-08-12
1906-12-08
1906-12-10
1906-12-12
1906-12-16
1906-16-12
1906-16-16
1906-16-20
1906-20-20
1906-24-24
1906-32-32

[N
<z |
. |
|
@ tube Dimensions

| om [ nech [ F | [B ] L [E |
6 1/4" 7/16" - 20 14 23 12
8 5/16" 1/2" - 20 14 24 14
10 3/8" 9/16" - 18 14 27 14
12 1/2" 3/4" - 16 17 32 19
16 5/8" 718" - 14 19 37 22
20 3/4" 1.1/16" - 12 22 42 27
25 1" 1.5/16" - 12 23 46 33
32 1-1/4" 1.5/8" - 12 24 52 41
38 1-1/2" 1.7/8" - 12 28 59 48

L

B C
@ tube Dimensions
. mom [ nech [ F | T JCc L B JE [ |

6 1/4" 7/16" - 20 1/8" 14 30 10 12
8 5/16" 1/2" - 20 1/8" 14 31 100 14
10 3/8" 9/16" - 18 1/8" 14 30 10 15
6 1/4" 7/16" - 20 1/4" 14 35 14 15
8 5/16" 1/2" - 20 1/4" 14 35 14 15
10 3/8" 9/16" - 18 1/4" 14 36 14 15
10 3/8" 9/16" - 18 3/8" 14 36 14 19
12 1/2" 3/4" - 16 3/8" 17 39 14 19
16 5/8" 718" - 14 3/8" 19 43 14 24
6 1/4" 7/16" - 20 1/2" 14 41 19 22
10 3/8" 9/16" - 18 1/2" 14 41 19 22
12 1/2" 3/4" - 16 1/2" 17 44 19 22
16 5/8" 718" - 14 1/2" 19 48 19 24
20 3/4" 1.1/16" - 12 1/2" 22 49 19 27
12 1/2" 3/4" - 16 3/4" 17 45 19 27
16 5/8" 718" - 14 3/4" 19 50 19 27
20 3/4" 1.1/16" - 12 3/4" 22 52 19 27
25 1" 1.5/16" - 12 3/4" 23 52 19 34
20 3/4" 1.1/16" - 12 1" 22 56 24 36
25 1" 1.5/16" - 12 1" 23 58 24 36
32 1.1/4" 1.5/8"-12 1" 24 62 24 46
32 1.1/4" 1.5/8" - 12 1.1/4" 24 62 25 46
38 1.1/2" 1.7/8" - 12 1.1/2" 28 66 25 50
50 2" 2.1/2" - 12 2" 34 78 26 65

14-F



Yl MM,

5140 KoHHekTop 90°JIC X NPTF

90°connector JIC male X NPTF male

Pe3bb6a/ Thread:
NPT (ANSI/ASME B1.20.1-1983)

@ tube Dimensions
part number
. om | nch | F [ T JCc [ L JE ]| |

5140-02-04 6 1/4" 7/16" - 20 1/8" 25 24 14
5140-02-05 8 5/16" 1/2" - 20 1/8" 26 24 14
5140-04-04 6 1/4" 7/16" - 20 1/4" 26 27 14
5140-04-05 8 5/16" 1/2" - 20 1/4" 26 27 14
5140-04-06 10 3/8" 9/16" - 18 1/4" 26 27 14
5140-06-06 10 3/8" 9/16" - 18 3/8" 28 32 19
5140-06-08 12 1/2" 3/4" - 16 3/8" 32 32 19
5140-06-10 14 5/8" 718" - 14 3/8" 34 36 22
5140-08-06 10 3/8" 9/16" - 18 1/2" 29 36 22
5140-08-08 12 1/2" 3/4" - 16 1/2" 34 36 22
5140-08-10 15 5/8" 718" - 14 1/2" 34 36 22
5140-08-12 18 3/4" 1.1/16" - 12 1/2" 40 42 27
5140-12-08 12 1/2" 3/4" - 16 3/4" 36 40 27
5140-12-10 16 5/8" 718" - 14 3/4" 39 43 27
5140-12-12 20 3/4" 1.1/16" - 12 3/4" 40 43 27
5140-12-16 25 1" 1.5/16" - 12 3/4" 42 42 33
5140-16-16 25 1" 1.5/16" - 12 1" 42 42 33
5140-16-20 32 1.1/4" 1.5/8"-12 1" 56 57 44
5140-20-20 32 1.1/4" 1.5/8"-12 1-1/4" 56 59 44
5140-24-24 38 1.1/2" 1.7/8" - 12 1-1/2" 62 62 50
5140-32-32 50 2" 2.1/2"-12 2" 74 74 65

5160  TpowHuk NPTF X JIC

-
NPTF male Run Tee
Q
Pe3bba / Thread: !
NPT (ANSI/ASME B1.20.1-1983) F
@ tube Dimensions
part number
. mom [ nech [ F | T JCc L B JE [ |

5160-02-04 6 1/4" 7/16" - 20 1/8" 23 43 20 14

5160-04-04 6 1/4" 7/16" - 20 1/4" 26 52 26 14

5160-04-05 8 5/16" 1/2" - 20 1/4" 24 51 27 14

5160-04-06 10 3/8" 9/16" - 18 1/4" 27 55 28 14

5160-06-08 12 1/2" 3/4" - 16 3/8" 32 63 31 19

5160-08-10 16 5/8" 718" - 14 1/2" 37 74 37 22

5160-12-12 20 3/4" 1.1/16" - 12 3/4" 42 82 40 27

5160-16-16 25 1" 1.5/16" - 12 1" 46 92 455 32

15-F



5150

5170

KoHHekTOp 45°JIC X NPTF

45°connector JIC male X NPTF male

Pe3bb6a/ Thread:

NPT (ANSI/ASME B1.20.1-1983)

part number

5150-02-04
5150-02-05
5150-04-04
5150-04-05
5150-04-06
5150-06-06
5150-06-08
5150-06-10
5150-08-06
5150-08-08
5150-08-10
5150-08-12
5150-12-08
5150-12-10
5150-12-12
5150-12-16
5150-16-16
5150-16-20
5150-20-20
5150-24-24
5150-32-32

6
8
6
8

10
10
12
14
10
12
15
18
12
16
20
25
25
32
32
38
50

@ tube

1/4"
5/16"
1/4"
5/16"
3/8"
3/8"
172"
5/8"
3/8"
172"
5/8"
3/4"
172"
5/8"
3/4"
1
1"
1.1/4"
1.1/4"
1.1/2"
o

TponHuk NPTF X JIC

NPTF male branch Tee

Pe3bba/ Thread:

NPT (ANSI/ASME B1.20.1-1983)

part number

5170-02-04
5170-04-04
5170-04-05
5170-04-06
5170-06-08
5170-08-10
5170-12-12
5170-16-16

6

6

8
10
12
16
20
25

1/4"
1/4"
5/16"
3/8"
172"
5/8"
3/4"
1

Dimensions

7/16" - 20 1/8"
1/2" - 20 1/8"
7/16" - 20 1/4"
1/2" - 20 1/4"
9/16" - 1/4"
9/16" - 18 3/8"
3/4" - 16 3/8"
7/8" - 3/8"
9/16" - 172"
3/4" - 16 172"
7/8" - 172"
1.1/16" - 12 172"
3/4" - 16 3/4"
7/8" - 3/4"
1.1/16" - 12 3/4"
1.5/16" - 12 3/4"
1.5/16" - 12 1"
1.5/8"-12 1"
1.5/8" - 12 1-1/4"
1.7/8" - 1-1/2"
2.1/2"-12 2"

22
21
20
22
22
27
29
22
27
32
35
30
29
33
29
37
42
42
44
53

Dimensions

7/16" 1/8"
7/16" - 20 1/4"
1/2" - 20 1/4"
9/16" - 18 1/4"
3/4" - 16 3/8"
7/8" - 172"
1.1/16" - 3/4"
1.5/16" - 12 1"

26
26
28
31
37
40
50

20
20
20
23
23
23
23
28
28
32
32
32
29
32
29
38
43
43
43
52

14
14
14
19
19
22
22
22
22
27
27
27
27
27
35
35
44
44
50
65

IIIIIMHIIIIIIIIIIIIIIIIIIIIIIIIEIIIIIII

70

52
52
54
64
74
84
92

26
26
27
32
37
42
46

14
14
14
19
22
27
35

16-F




5180

KoHHekTOop NPTF X JIC

Connector NPTF female X JIC male

Pe3bb6a/ Thread:
NPT (ANSI/ASME B1.20.1-1983)

part number

5180-02-04
5180-02-05
5180-04-06
5180-06-06
5180-06-08
5180-08-10
5180-12-12
5180-16-16

@ tube

6
8
10
10
12
16
20
25

1/4"
5/16"
3/8"
3/8"
172"
5/8"
3/4"

1"

7/16" - 20
1/2" - 20
9/16" - 18
9/16" - 18
3/4" - 16
7/8" - 14
1.1/16" - 12
1.5/16" - 12

1/8" - 27
1/8" - 27
1/4" - 18
3/8"-18
3/8" - 14
1/2" - 14
3/4" - 14
1"-11.1/2

17-F




1907

5205

KoHHekTop JIC X UNF

Male connector JIC male X UNF straight thread

Pe3bb6a/ Thread:
UNF/UN (ISO 11926-1)

part number

1907-04-04
1907-04-05
1907-04-06
1907-05-05
1907-05-08
1907-06-06
1907-06-08
1907-08-08
1907-08-10
1907-10-08
1907-10-10
1907-10-12
1907-12-10
1907-12-12
1907-12-16
1907-16-12
1907-16-16
1907-20-20
1907-24-24

Dimensions

1/4"
1/4"
1/4"
5/16"
5/16"
3/8"
3/8"
172"
172"
5/8"
5/8"
5/8"
3/4"
3/4"
3/4"
1
1"
1.1/4"
1.1/2"

7/16" 20
7/16" - 20
7/16" - 20
1/2" - 20
1/2" - 20
9/16" - 18
9/16" -
3/4" - 14
3/4" - 14
7/8" -
7/8" - 14
7/8" - 14
1.1/16" -

1.1/16" - 12
1.1/16" - 12

1.5/16" -

1.5/16" - 12
1.5/8" - 12

1.7/8" -

KoHHekTOp yanuHeHHbIN JIC X UNF

Long Male Connector Jic/lUNF

Pe3bb6a/ Thread:
UNF/UN (ISO 11926-1)

part number

5205-04-04
5205-05-05
5205-06-06
5205-08-06
5205-08-08
5205-08-10
5205-10-08
5205-10-10
5205-10-12
5205-12-10
5205-12-12
5205-16-12
5205-16-16
5205-20-20
5205-24-24

7/16"
1/2" - 0 14 31 9 17
9/16" - 14 32 10 17
1/2" - 20 14 31 9 17
3/4" - 14 14 35 1 22
9/16" - 18 14 33 10 17
3/4" - 14 35 1 22
3/4" - 14 17 38 11 22
718" - 14 17 39 13 27
3/4" - 19 38 11 24
718" - 14 19 43 13 27
1.1/a6"-12 19 47 15 32
718" - 22 46 13 27
1.1/a6"-12 22 50 15 32
1.5/16"-12 22 51 15 38
1.1/16"-12 23 51 15 34
1.5/16"-12 23 52 15 38
15/8"-12 24 55 15 50
1.7/8" - 28 60 15 55
L
& B
i
Dimensions

IIIIIMEIIIIIIIIIIIIIIII[I“IIlillllll

6
8
10
10
12
14-16
12
14-16
18-20
14-16
18-20
18-20
25
30-32
38

1/4"
5/16"
3/8"
3/8"
172"
5/8"
172"
5/8"
3/4"
5/8"
3/4"
3/4"
1"
1.1/4"
1.1/2"

7/16-20
1/2-20
9/16-18
9/16-18
3/4-16
7/8-14
3/4-16
7/8-14
1.1/16-12
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/8-12
1.7/8-12

7/16-20
1/2-20
9/16-18
3/4-16
3/4-16
3/4-16
7/8-14
7/8-14
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/16-12
1.5/8-12
1.7/8-12

54
59
60
68
75
72
7
89
81
92
93
101
119
131

9
10
11
11
11
13
13
13
15
15
15
15
15
15

37
40
40
48
58
48
58
64
53
64
64
72
88
99

16
17
22
22
24
27
27
27
32
32
35
85
50
55

18-F



Yl MM,

5190

5195

KoHHekTop 90° perynupyemsbin JIC X
UNF

90°elbow "adjustable” connector JIC male X UNF
straight thread male

Pe3bb6a/ Thread:
UNF/UN (ISO 11926-1)

o

L

T
part AUmbeEr g e -

6

5190-04 1/4" 7/16" - 20 7/16" - 20 24 26 14 11
5190-05 8 516"  1/2'-20  1/2'-20 26 32 17 14
5190-06 10 3/8" 9/16" - 18 9/16" - 18 26 32 17 14
5190-08 12 12" 34"-16  3/4"-16 31 37 22 19
5190-10 16 5/8" 718" - 14 718" - 14 35 43 25 22
5190-12 20 34" 1U16"-12 1.116"-12 41 49 32 27
5190-16 25 1" 1.5/16"-12 1.5/16"-12 47 52 38 35
5190-20 32 1.1/4" 1.5/8"-12  1.5/8"-12 57 57 48 43

c

@
KoHHeKkTOp perynupyemMbii yONIMHEHHbIN f)
—

JIC X UNF

45°elbow "adjustable” connector JIC male X UNF
straight thread male

Pe3bba/ Thread:
UNF/UN (ISO 11926-1)

part AUmbeEr g e

L om | nch | F | T |8 [C
5195-04-04 6 1/4" 7/16-20 7/16-20 23 46
5195-05-05 8 5/16" 1/2-20 1/2-20 24 50
5195-06-06 10 3/8" 9/16-18 9/16-18 27 57
5195-08-06 10 3/8" 9/16-18 3/4-16 29 67
5195-08-08 12 172" 3/4-16 3/4-16 32 67
5195-08-10 14-16 5/8" 7/8-14 3/4-16 37 75
5195-10-08 12 172" 3/4-16 7/8-14 34 78
5195-10-10 14-16 5/8" 7/8-14 7/8-14 37 78
5195-10-12 18-20 3/4" 1.1/16-12 7/8-14 42 88
5195-12-10 14-16 5/8" 7/8-14 1.1/16-12 40 92
5195-12-12 18-20 3/4" 1.1/16-12 1.1/16-12 42 92
5195-16-12 18-20 3/4" 1.1/16-12 1.5/16-12 45 105
5195-16-16 25 1" 1.5/16-12 1.5/16-12 46 105
5195-20-20 30-32 1.1/4" 1.5/8-12 1.5/8-12 52 124
5195-24-24 38 1.1/2" 1.7/8-12 1.7/8-12 59 135

I“]Ilﬂl

BN
14 12
16 14
17 14
22 19
22 19
22 22
271 22
27 22
271 27
32 27
32 27
41 33
41 33
50 41
55 48




iy press

&
o <
5200 KoHHekTOp 45° perynupyembin JIC X UNF
E
45°elbow "adjustable” connector JIC male X UNF —
straight thread male
H

Pe3bb6a/ Thread:

UNF/UN (ISO 11926-1) T

part AUmbeEr g e

5200-04 6 1/4" 7/16" - 20 7/16" - 20 19 27 14 11
5200-05 8 5/16" 1/2" - 20 1/2" - 20 2 29 17 14
5200-06 10 3/8" 9/16" - 18 9/16" - 18 22 29 17 14
5200-08 12 1/2" 3/4" - 16 3/4" - 16 26 33 22 19
5200-10 16 5/8" 7/8" - 14 7/8" - 14 30 39 25 22
5200-12 20 3/4" 1.1/16"-12 1.1/16"-12 35 44 32 27
5200-16 25 1" 1.5/16"-12 1.5/16"-12 39 47 38 35
5200-20 32 1.1/4" 158"-12 15/8"-12 40 49 48 43

5210  TpouHuk perynupyembin UNF .SLT

Adjustable UNF male run Tee

=

Pe3bb6a/ Thread:
UNF/UN (ISO 11926-1)

L
P
J
part AUmbeEr o -

[ om ] nch | F | T |C ]l [B |E |

5210-04 6 1/4" 7/16" - 20 7/16" - 20 10 49 26 11
5210-05 8 5/16" 1/2" - 20 1/2" - 20 11 52 28 13
5210-06 10 3/8" 9/16" - 18 9/16" - 18 11 59 32 14
5210-08 12 1/2" 3/4" - 16 3/4" - 16 13 69 37 19
5210-10 16 5/8" 7/8" - 14 7/8" - 14 14 80 43 22
5210-12 20 3/4" 1.1/16"-12 1.1/16"-12 17 91 49 27
5210-16 25 1" 1.5/16"-12 1.5/16"-12 17 98 52 33




Yl MM,

5220  TpoWHuk perynupyembin UNF
Adjustable UNF male branch Tee - :[[M‘[“i[ ‘ m

Pe3bb6a/ Thread:

UNF/UN (ISO 11926-1)
T

part number -

5220-04 6 l/ " 7/16" 20 7/16"

5220-05 8 5/16" 1/2" - 20 1/2" - 20 24 28 16 13
5220-06 10 3/8" 9/16" - 18 9/16" - 18 27 32 17 14
5220-08 12 172" 3/4" - 16 3/4" - 16 32 37 22 19
5220-10 16 5/8" 7/8" - 14 7/8" - 14 37 43 27 22
5220-12 20 3/4" 1.1/16"-12 1.1/16"-12 42 49 32 27
5220-16 25 1" 1.5/16"-12 1.5/16"-12 46 52 38 33

L
C B
1905 KoHHekTOop BSP X JIC

Connector BSP parallel thread male X JIC male . '—J

Pe3k6a / Thread:

BSPP (Form A DIN 3852) E

@ tube Dimensions
part number
-——--EE_

1905-02-04 6 1/4" 7/16" - 20 1/8"
1905-04-04 6 1/4" 7/16" - 20 1/4" 14 34 12 19
1905-04-05 8 5/16" 1/2" - 20 1/4" 14 34 12 19
1905-04-06 10 3/8" 9/16" - 18 1/4" 14 34 12 19
1905-06-05 8 5/16" 1/2" - 20 3/8" 14 36 12 22
1905-06-06 10 3/8" 9/16" - 18 3/8" 14 36 12 22
1905-06-08 12 1/2" 3/4" - 16 3/8" 17 38 12 22
1905-06-10 14 5/8" 7/8" - 14 3/8" 19 42 12 24
1905-08-06 10 3/8" 9/16" - 18 1/2" 14 39 14 27
1905-08-08 12 1/2" 3/4" - 16 1/2" 17 42 14 27
1905-08-10 15 5/8" 718" - 14 1/2" 19 44 14 27
1905-08-12 20 3/4" 1.1/16" - 12 1/2" 22 47 14 27
1905-10-10 14 5/8" 718" - 14 5/8" 19 46 16 30
1905-10-12 14 5/8" 1.1/16" - 12 5/8" 22 49 16 30
1905-12-10 14 5/8" 718" - 14 3/4" 19 46 16 32
1905-12-12 20 3/4" 1.1/16" - 12 3/4" 22 49 16 32
1905-12-16 25 1" 1.5/16" - 12 3/4" 23 52 16 34
1905-16-12 20 3/4" 1.1/16" - 12 1" 22 52 18 41
1905-16-16 25 1" 1.5/16" - 12 1" 23 54 18 41
1905-16-20 32 1.1/4" 1.5/8"- 12 1" 24 57 18 42
1905-20-20 32 1.1/4" 1.5/8"-12 1.1/4" 24 58 20 50
1905-24-20 32 1.1/4" 1.5/8"- 12 1.1/2" 24 59 22 55
1905-24-24 38 1.1/2" 1.7/8" - 12 1.1/2" 28 63 22 55

21-F



1915

KoHHekTOp JIC/BSP ynnoTHuTernbHOe KOnbL,o

Male Connector Jic/BSP O'Ring

Pe3bba/ Thread:
BSPP (I1SO 1179-3)

part number

1915-02-04
1915-02-05
1915-04-04
1915-04-05
1915-04-06
1915-04-08
1915-06-04
1915-06-05
1915-06-06
1915-06-08
1915-06-10
1915-08-06
1915-08-08
1915-08-10
1915-08-12
1915-12-08
1915-12-10
1915-12-12
1915-12-16
1915-16-12
1915-16-16
1915-16-20
1915-20-16
1915-20-20
1915-24-24

L

(8 Jc JE | |
8 14 14

Dimensions
6 1/4" 7116-20 1/8-28 29
8 5/16" 1/2-20 1/8-28 29 8 14 16
6 1/4" 7116-20 1/4-19 35 12 14 19
8 5/16" 1/2-20 1/4-19 3 12 14 19
10 3/8" 9/16-18 1/4-19 35 12 14 19
12 1/2" 3/4-16 1/4-19 38 12 17 22
6 1/4" 7116-20 3/8-19 35 12 14 24
8 5/16" 1/2-20 3/8-19 3 12 14 24
10 3/8" 9/16-18 3/8-19 35 12 14 24
12 1/2" 3/4-16 3/8-19 38 12 17 24
14-16 5/8" 7/8-14 3/8-19 41 12 20 24
10 3/8" 9/16-18 1/2-14 38 14 14 27
12 1/2" 3/4-16 1/2-14 41 14 17 27
14-16 5/8" 7/8-14 1/2-14 44 14 20 27
18-20 3/4" 1.1/16-12 1/2-14 a7 14 22 27
12 1/2" 3/4-16 3/4-11 45 16 17 36
14-16 5/8" 7/8-14 3/4-11 48 16 20 36
18-20 3/4" 1.1/16-12 3/4-11 50 16 22 36
25 1" 1.5/16-12 3/4-11 51 16 23 36
18-20 3/4" 1.1/16-12 1-11 53 18 22 41
25 1" 1.5/16-12 1-11 54 18 23 41
30-32 1.1/4" 1.5/8-12 1-11 56 18 25 42
25 1" 1.5/16-12 1.1/4-11 57 20 23 50
30-32 1.1/4" 1.5/8-12 1.1/4-11 59 20 25 50
38 1.1/2" 1.7/8-12 1.1/2-11 66 22 28 60

22-F




5185

5230

KoHHekTOp BSP X JIC

Connector BSP female X JIC male

@ tube Dimensions
part number
. mm | gnch | F [ T | C JL |E | |
5185-02-04 6 1/4" 7/16-20 1/8-28 14 28 19
5185-02-05 8 5/16" 1/2-20 1/8-28 14 28 19
5185-04-04 6 1/4" 7/16-20 1/4-19 14 31 19
5185-04-05 8 5/16" 1/2-20 1/4-19 14 31 19
5185-04-06 10 3/8" 9/16-18 1/4-19 14 31 22
5185-04-08 12 1/2" 3/4-16 1/4-19 17 36 27
5185-06-06 10 3/8" 9/16-18 3/8-19 14 36 22
5185-06-08 12 172" 3/4-16 3/8-19 17 36 27
5185-08-06 10 3/8" 9/16-18 1/2-14 14 41 22
5185-08-08 12 172" 3/4-16 1/2-14 17 41 27
5185-08-10 16 5/8" 7/8-14 1/2-14 20 42 32
5185-08-12 20 3/4" 1.1/16-12 1/2-14 22 45 32
5185-12-12 20 3/4" 1.1/16-12 3/4-11 22 48 32
5185-16-16 25 1" 1.5/16-12 1-11 23 55 41
C
. L
KoHHekTop 90° perynupyembin JIC X BSP w -l
90°elbow "adjustable” connector JIC male X BSP
straight thread male H -
Pe3wba / Thread: 1
BSPP (1SO 1179-3) T
@ tube Dimensions
part number
L mm | gnch | F__[ 1 _Jc L JH |E | |
5230-02-04 6 1/4" 7/16" - 20 1/8" 23 26 14 11
5230-04-04 6 1/4" 7/16" - 20 1/4" 24 32 19 14
5230-04-05 8 5/16" 1/2" - 20 1/4" 24 33 19 14
5230-04-06 10 3/8" 9/16" - 18 1/4" 27 32 19 14
5230-06-06 10 3/8" 9/16" - 18 3/8" 29 37 22 19
5230-06-08 12 172" 3/4" - 16 3/8" 32 37 22 19
5230-06-10 14 5/8" 718" - 14 3/8" 37 43 22 22
5230-08-08 12 1/2" 3/4" - 16 1/2" 34 43 271 22
5230-08-10 15 5/8" 718" - 14 1/2" 37 43 27 22
5230-08-12 20 3/4" 1.1/16" - 12 1/2" 42 41 21 27
5230-12-10 16 5/8" 718" - 14 3/4" 37 50 36 27
5230-12-12 20 3/4" 1.1/16" - 12 3/4" 42 50 36 27
5230-16-16 25 1" 1.5/16" - 12 1" 46 52 41 33
5230-20-20 32 1.1/4" 1.5/8"-12 1.1/4" 52 57 50 41
5230-24-24 38 1.1/2" 1.7/8" - 12 1.1/2" 59 61 55 48

23-F



5235

5240

KoHHekTOp 45° perynupyembin JIC X BSP

Adjustable BSP male run Tee

Pe3bb6a/ Thread:
BSPP (I1SO 1179-3)

part number

@ tube Dimensions

IIIIIMHIIIIIIIIIIIIIIIBIIIIIIIIIIIIIIII

o

5235-02-04 6 1/4" 7/16-20 1/8-28
5235-02-05 8 5/16" 1/2-20 1/8-28 20 27 14 14
5235-04-04 6 1/4" 7/16-20 1/4-19 21 29 19 14
5235-04-05 8 5/16" 1/2-20 1/4-19 21 29 19 14
5235-04-06 10 3/8" 9/16-18 1/4-19 21 29 19 14
5235-04-08 12 1/2" 3/4-16 1/4-19 25 30 19 19
5235-06-04 6 1/4" 7/16-20 3/8-19 21 33 24 19
5235-06-05 8 5/16" 1/2-20 3/8-19 21 33 24 19
5235-06-06 10 3/8" 9/16-18 3/8-19 22 33 24 19
5235-06-08 12 1/2" 3/4-16 3/8-19 25 33 24 19
5235-06-10 14-16 5/8" 7/8-14 3/8-19 28 35 24 22
5235-08-06 10 3/8" 9/16-18 1/2-14 23 39 271 22
5235-08-08 12 1/2" 3/4-16 1/2-14 25 39 27 22
5235-08-10 14-16 5/8" 7/8-14 1/2-14 28 39 27 22
5235-08-12 18-20 3/4" 1.1/16-12 1/2-14 33 41 27 27
5235-12-08 12 1/2" 3/4-16 3/4-11 28 44 36 27
5235-12-10 14-16 5/8" 7/8-14 3/4-11 30 44 36 27
5235-12-12 18-20 3/4" 1.1/16-12 3/4-11 33 44 36 27
5235-12-16 25 1" 1.5/16-12 3/4-11 37 47 36 33
5235-16-12 18-20 3/4" 1.1/16-12 1-11 36 47 41 33
5235-16-16 25 1" 1.5/16-12 1-11 37 47 41 33
5235-16-20 30-32 1.1/4" 1.5/8-12 1-11 41 49 41 41
5235-20-16 25 1" 1.5/16-12 1.1/4-11 39 49 50 41
5235-20-20 30-32 1.1/4" 1.5/8-12 1.1/4-11 41 49 50 41
5235-24-24 38 1.1/2" 1.7/8-12 1.1/2-11 45 49 60 48
B
TpounHukK perynupyembin BSP - C .
Adjustable BSP male run Tee W
Iz
Pe3kb6a / Thread:
BSPP (1SO 1179-3)
@ tube Dimensions

part number

5240-02-04 6 1/4" 7/16" - 1/8"
5240-04-05 8 5/16" 1/2" - 20 1/4"
5240-04-06 10 3/8" 9/16" - 18 1/4"
5240-06-06 10 3/8" 9/16" - 18 3/8"
5240-06-08 12 172" 3/4" - 16 3/8"
5240-08-10 16 5/8" 7/8" - 14 1/2"
5240-12-10 14-16 5/8" 7/8" - 14 3/4"
5240-12-12 20 3/4" 1.1/16" - 12 3/4"
5240-16-16 25 1" 1.5/16" - 12 1"

11
11
11
11
13
13
13
16

56
59
64
69
80
88
92
98

32
32
37
37
43
49,3
50
52

14
14
19
19
22
27
27
33

=

IIIIIMHIIIIIIIIIIIIIIIIIIIIIJIIEIIIIIII

24-F




Yl MM,

5250

5255

TponHuk perynupyembin BSP

Adjustable BSP male branch Tee

Pe3bb6a/ Thread:
BSPP (I1SO 1179-3)

@ tube

part number

5250-02-04 6 1/4" 7/16" -
5250-04-05 8 5/16" 1/2" - 20
5250-04-06 10 3/8" 9/16" -
5250-06-06 10 3/8" 9/16" - 18
5250-06-08 12 172" 3/4" -
5250-08-08 12 172" 3/4" - 16
5250-08-10 16 5/8" 7/8" - 14
5250-12-12 20 3/4" 1.1/16" -
5250-16-16 25 1" 1.5/16" - 12

Perynupyembin agantep JIC/BSP

Adjustable Elbow with Swivel Nut JIC/BSP

Pe3bba/ Thread:
BSPP (I1SO 1179-3)

part number

5255-02-04 6 1/4" 7/16-20
5255-04-04 6 1/4" 7/16-20
5255-04-05 8 5/16" 1/2-20
5255-04-06 10 3/8" 9/16-18
5255-04-08 12 172" 3/4-16
5255-06-05 8 5/16" 1/2-20
5255-06-06 10 3/8" 9/16-18
5255-06-08 12 172" 3/4-16
5255-06-10 14-16 5/8" 7/8-14
5255-08-08 12 172" 3/4-16
5255-08-10 14-16 5/8" 7/8-14
5255-08-12 18-20 3/4" 1.1/16-12
5255-12-10 14-16 5/8" 7/8-14
5255-12-12 18-20 3/4" 1.1/16-12
5255-12-16 25 1" 1.5/16-12
5255-16-12 18-20 3/4" 1.1/16-12
5255-16-16 25 1" 1.5/16-12
5255-20-20 30-32 1.1/4" 1.5/8-12
5255-24-24 38 1.1/2" 1.7/8-12

Dimensions

1/8"
1/4"
1/4"
3/8"
3/8"
172"
172"
3/4"
1"

1/8-28
1/4-19
1/4-19
1/4-19
1/4-19
3/8-19
3/8-19
3/8-19
3/8-19
1/2-14
1/2-14
1/2-14
3/4-11
3/4-11
3/4-11
1-11
1-11
1.1/4-11
1.1/2-11

IIIIIMHIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

24 32 19 14
27 32 19 14
27 37 22 19
32 37 22 19
34 43 27 22
37 43 27 22
42 50 36 27
46 52 41 33
‘ C
D
-
L %
m
; |
F
Dimensions

18
19
23
24
22
23
25
26
27
29
31
29
31
36
36
38
46
53

32
32
32
35
37
37
37
40
43
43
46
55
55
58
60
60
62
65

19
19
19
19
22
22
22
22
27
27
27
36
36
36
41
41
50
55

14
14
14
19
19
19
19
22
22
22
27
27
27
33
33
33
42
48

IIIIIMHIIIIIIIIIIIIIIIBIIIIIIIIIIIIIIII

17
17
19
24
17
19
24
27
24
27
32
27
32
41
32
41
50
55

25-F



5036

ApanTtep JIC X BSP ynnotHeHue ED (DIN
3852 ¢hopma E)

Connector swivel JIC female X BSP male with "ED" seal

Pe3bb6a/ Thread:
BSPP (Form E DIN 3852)

part number

5036-02-04
5036-02-05
5036-04-04
5036-04-05
5036-04-06
5036-04-08
5036-06-04
5036-06-05
5036-06-06
5036-06-08
5036-06-10
5036-08-06
5036-08-08
5036-08-10
5036-08-12
5036-12-10
5036-12-12
5036-12-16
5036-16-12
5036-16-16
5036-16-20
5036-20-16
5036-20-20
5036-20-24
5036-24-24

i

e

Y/

@ tube Dimensions
. mm [ nech [ F | T [B D |H [E [ |
6 1/4" 7/16"-20 1/8" 8 26 14 14
8 5/16" 1/2"-20 1/8" 8 28 17 14
6 1/4" 7/16"-20 1/4" 12 26 14 19
8 5/16" 1/2"-20 1/4" 12 27 17 19
10 3/8" 9/16"-18 1/4" 12 28 19 19
12 1/2" 3/4"-16 1/4" 12 30 22 19
6 1/4" 7/16"-20 3/8" 12 28 14 22
8 5/16" 1/2"-20 3/8" 12 29 17 22
10 3/8" 9/16"-18 3/8" 12 30 19 22
12 1/2" 3/4"-16 3/8" 12 32 22 22
16 5/8" 718"-14 3/8" 12 36 27 22
10 3/8" 9/16"-18 1/2" 14 31 19 27
12 1/2" 3/4"-16 1/2" 14 34 22 27
16 5/8" 7/8"-14 1/2" 14 38 27 27
20 3/4" 1.1/16"-12 1/2" 14 38 32 27
16 5/8" 7/8"-14 3/4" 16 39 27 32
20 3/4" 1.1/16"-12 3/4" 16 39 32 32
25 1" 1.5/16"-12 3/4" 16 43 41 32
20 3/4" 1.1/16"-12 1" 18 41 32 41
25 1" 1.5/16"-12 1" 18 44 41 4
32 1.1/4" 1.5/8"-12 1" 18 45 50 41
25 1" 1.5/16"-12 1.1/4" 20 47 41 50
32 1.1/4" 1.5/8"-12 1.1/4" 20 47 50 50
32 1.1/4" 1.7/8"-12 1.1/4" 20 54 60 50
38 1.1/2" 1.7/8"-12 1.1/2" 22 55 60 55

|

26-F



1903

5165

KoHHekTop JIC/BSPT
Male Connector Jic/BSPT

Pe3bba/ Thread:
BSPT (Form C DIN 3852)

part number

1903-02-04
1903-02-05
1903-04-04
1903-04-05
1903-04-06
1903-04-08
1903-06-06
1903-06-08
1903-06-10
1903-08-08
1903-08-10
1903-08-12
1903-12-10
1903-12-12
1903-12-16
1903-16-12
1903-16-16
1903-16-20
1903-20-20
1903-20-24
1903-24-24

@ tube
6 1/4"
8 5/16"
6 1/4"
8 5/16"
10 3/8"
12 1/2"
10 3/8"
12 1/2"
14-16 5/8"
12 1/2"
14-16 5/8"
18-20 3/4"
14-16 5/8"
18-20 3/4"
25 1"
18-20 3/4"
25 1"
30-32 1.1/4"
30-32 1.1/4"
38 1.1/2"
38 1.1/2"

Apantep 90°JIC/BSPT

Male 90°Elbow Jic/BSPT

Pe3bb6a/ Thread:
BSPT (Form C DIN 3852)

part number

5165-02-04
5165-02-05
5165-04-04
5165-04-05
5165-04-06
5165-04-08
5165-06-06
5165-06-08
5165-06-10
5165-08-08
5165-08-10
5165-08-12
5165-12-10
5165-12-12
5165-12-16
5165-16-12
5165-16-16
5165-16-20
5165-20-20
5165-20-24
5165-24-24

@ tube

IIIIIMHIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

6
8
6
8
10
12
10
12
14-16
12
14-16
18-20
14-16
18-20
25
18-20
25
30-32
30-32
38
38

1/4"
5/16"
1/4"
5/16"
3/8"
172"
3/8"
172"
5/8"
172"
5/8"
3/4"
5/8"
3/4"
1"
3/4"
1"
1.1/4"
1.1/4"
1.1/2"
1.1/2"

7/16-20
1/2-20
7/16-20
1/2-20
9/16-18
3/4-16
9/16-18
3/4-16
7/8-14
3/4-16
7/8-14
1.1/16-12
7/8-14
1.1/16-12
1.5/16-12
1.1/16-12
1.5/16-12
1.5/8-12
1.5/8-12
1.7/8-12
1.7/8-12

7/16"-20
1/2"-20
7/16"-20
1/2"-20
9/16"-18
3/4’-16
9/16"-18
3/4’-16
7/8"-14
3/4’-16
7/8"-14
1.1/16"-12
7/8"-14
1.1/16"-12
1.5/16"-12
1.1/16"-12
1.5/16"-12
1.5/8"-12
1.5/8"-12
1.7/8"-12
1.7/8"-12

Dimensions

IIIIIMHIIIIIIIIIIIIIIIIII]IIIIIEIIIIIII

1/8-28
1/8-28
1/4-19
1/4-19
1/4-19
1/4-19
3/8-19
3/8-19
3/8-19
1/2-14
1/2-14
1/2-14
3/4-11
3/4-11
3/4-11
1-11
1-11
1-11
1.1/4-11
1.1/4-11
1.1/2-11

31
36
36
36
39
36
39
44
36
48
53
50
53
54
58
59
62
62
67
68

Dimensions

1/8-28
1/8-28
1/4-19
1/4-19
1/4-19
1/4-19
3/8-19
3/8-19
3/8-19
1/2-14
1/2-14
1/2-14
3/4-11
3/4-11
3/4-11
1-11
1-11
1-11
1.1/4-11
1.1/4-11
1.1/2-11

20
28
28
28
31
31
31
33
38
38
41
41
41
45
50
50
60
61
66
67

10
15
15
15
15
15
15
15
19
19
19
19
19
19
24
24
24
25
25
25

24
27
27
27
32
29
32
37
34
37
42
40
42
46
45
46
52
52
59
59

14
14
14
14
17
14
17
20
17
20
22
20
22
23
22
23
25
25
28
28

14
14
14
14
19
14
19
22
22
22
27
27
27
33
33
33
41
41
48
48

14
14
14
16
19
19
19
24
22
24
27
27
27
36
36
36
42
46
50
50

27-F



il ypress l’l,l' =

JIC Adaptors

5265

KoHHekTOp 45° HapyXHble pe3bbbl JIC/BS

Male 45°Elbow Jic/BSPT

Pe3bba / Thread:
BSPT (Form C DIN 3852)

-——--——

5265-02-04 4" 7/16-20 1/8-28 17 12

5265-04-04 1/4" 7/16-20 1/4-19 22 14

5265-04-06 10 3/8" 9/16-18 1/4-19 22

5265-06-06 10 3/8" 9/16-18 3/8-19 24 14

5265-06-10 14-16 5/8" 7/8-14 3/8-19 25 22

5265-08-10 14-16 5/8" 7/8-14 1/2-14 30

5265-12-10 14-16 5/8" 7/8-14 3/4-11 31 27

5265-12-16 25 1" 1.5/16-12 3/4-11 33 33

5265-16-16 25 1" 1.5/16-12 1-11

5265-20-20 30-32 1.1/4" 1.5/8-12 1.1/4-11 43 41

5265-24-24 38 1.1/2" 1.7/8-12 1.1/2-11 45 48

Fluid Power Care

28-F

IMM Group



Yl MM,

5275

TponHuk JIC/BSPT

Run Tee Jic/BSPT

Pe3bb6a/ Thread:
BSPT (Form C DIN 3852)

@ tube

part number

5275-02-04 6
5275-02-05 8
5275-04-04 6
5275-04-05 8
5275-04-06 10
5275-04-08 12
5275-06-06 10
5275-06-08 12
5275-06-10 14-16
5275-08-08 12
5275-08-10 14-16
5275-08-12 18-20
5275-12-10 14-16
5275-12-12 18-20
5275-12-16 25
5275-16-12 18-20
5275-16-16 25
5275-16-20 30-32
5275-20-20 30-32
5275-20-24 38
5275-24-24 38

1/4"
5/16"
1/4"
5/16"
3/8"
172"
3/8"
172"
5/8"
172"
5/8"
3/4"
5/8"
3/4"
1"
3/4"
1"
1.1/4"
1.1/4"
1.1/2"
1.1/2"

f”j

[ om ] inch | F__| T |8 JC | E__|

7/16-20
1/2-20
7/16-20
1/2-20
9/16-18
3/4-16
9/16-18
3/4-16
7/8-14
3/4-16
7/8-14
1.1/16-12
7/8-14
1.1/16-12
1.5/16-12
1.1/16-12
1.5/16-12
1.5/8-12
1.5/8-12
1.7/8-12
1.7/8-12

1/8
1/8
1/4
1/4
1/4
1/4
3/8
3/8
3/8
1/2
1/2
1/2
3/4
3/4
3/4
1
1
1
1.1/4
1.1/4
1.1/2

29-F



Yl MM,

5280 TpownHuk JIC/BSPT ﬂmm—

Branch Tee Jic/BSPT

Pe3k6a/ Thread: T
BSPT (Form C DIN 3852)

@ tube Dimensions
part number
. mm | nch | F [ T [BJC ] E | |
5280-02-04 6 1/4" 7116-20 1/8 23 20 12
5280-02-05 8 5/16" 1/2-20 1/8 24 20 14
5280-04-04 6 1/4" 7116-20 1/4 27 28 14
5280-04-05 8 5/16" 1/2-20 1/4 27 28 14
5280-04-06 10 3/8" 9/16-18 1/4 27 28 14
5280-04-08 12 1/2" 3/4-16 1/4 32 31 19
5280-06-06 10 3/8" 9/16-18 3/8 29 31 14
5280-06-08 12 1/2" 3/4-16 3/8 32 31 19
5280-06-10 14-16 5/8" 7/8-14 3/8 37 33 22
5280-08-08 12 1/2" 3/4-16 1/2 34 38 22
5280-08-10 14-16 5/8" 7/8-14 1/2 37 38 22
5280-08-12 18-20 3/4" 1.1/16-12 1/2 42 41 27
5280-12-10 14-16 5/8" 7/8-14 3/4 40 41 27
5280-12-12 18-20 3/4" 1.1/16-12 3/4 42 41 27
5280-12-16 25 1" 1.5/16-12 3/4 46 45 33
5280-16-12 18-20 3/4" 1.1/16-12 1 45 50 33
5280-16-16 25 1" 1.5/16-12 1 46 50 33
5280-16-20 30-32 1.1/4" 1.5/8-12 1 52 60 41
5280-20-20 30-32 1.1/4" 1.5/8-12 1.1/4 52 61 41
5280-20-24 38 1.1/2" 1.7/8-12 1.1/4 59 66 48
5280-24-24 38 1.1/2" 1.7/8-12 1.1/2 59 67 48

30-F



1777

5395

KoHHekTOp JIC/meTpuka DIN 3852-1

Male Connector Jic/Metric DIN 3852-1

Pe3bba/ Thread:
Metric Parallel

@ tube

part number

1777-10-04 6 1/4"
1777-10-05 8 5/16"
1777-12-04 6 1/4"
1777-12-05 8 5/16"
1777-14-06 10 3/8"
1777-16-06 10 3/8"
1777-16-08 12 172"
1777-18-08 12 172"

1777-18-10 14-16 5/8"
1777-22-10 14-16 5/8"

1777-22-12 18-20 3/4"
1777-27-12 18-20 3/4"
1777-27-16 25 1"
1777-33-16 25 1"
1777-42-20 30 1.1/4"
1777-48-24 38 1.1/2"

KoHHeKTOp yANMHEeHHbIN
JIC/meTpuka DIN 3852-2

7/16-20
1/2-20
7/16-20
1/2-20
9/16-18
9/16-18
3/4-16
3/4-16
7/8-14
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/16-12
1.5/8-12
1.7/8-12

Long Male Connector Jic/Metric DIN 3852-1

Pe3bba/ Thread:

Metric Parallel

part number

5395-10-04 6 1/4"
5395-10-05 8 5/16"
5395-12-04 6 1/4"
5395-12-05 8 5/16"
5395-14-06 10 3/8"
5395-16-06 10 3/8"
5395-16-08 12 172"
5395-18-08 12 172"
5395-18-10 14-16 5/8"
5395-22-10 14-16 5/8"
5395-22-12 18-20 3/4"
5395-27-12 18-20 3/4"
5395-27-16 25 1"
5395-33-16 25 1"
5395-42-20 30 1.1/4"
5395-48-24 38 1.1/2"

7/16-20
1/2-20
7/16-20
1/2-20
9/16-18
9/16-18
3/4-16
3/4-16
7/8-14
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/16-12
1.5/8-12
1.7/8-12

Dimensions

il |

-——-E-E_

—

B

M

i

.

‘ﬂ

-

M10x1 30

M10x1 30 9 14 16
M12x1,5 33 12 14 17
M12x1,5 33 12 14 17
M14x1,5 34 12 14 19
M16x1,5 35 13 14 22
M16x1,5 38 13 17 22
M18x1,5 40 14 17 24
M18x1,5 42 14 20 24
M22x1,5 45 15 20 30
M22x1,5 48 15 22 30

M27x2 53 19 22 36

M27x2 54 19 23 36

M33x2 54 19 23 41

M42x2 58 20 25 50

M48x2 65 22 28 60

w | |
j” A
Dimensions

M10x1
M10x1
M12x1,5
M12x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5
M27x2
M27x2
M33x2
M42x2
M48x2

52
53
54
56
59
60
69
71
76
78
90
94
103
103
122
136

9
12
12
12
13
13
14
14
15
15
19
19
19
20
22

37
36
37
40
40
48
48
53
58
64
64
72
72
88
99

16
17
17
19
22
22
24
24
30
30
36
36
41
50
60

7k

-——-E-E_

31-F



5400

5405

KoHHekTOp 90° perynupyemMbin
JIC/meTpuka DIN 3852-1

Adjustable Elbow JIC/Metric DIN 3852-1

Pe3bb6a/ Thread:
Metric Parallel

@ tube

part number

5400-10-04 6 1/4" 7/16-20
5400-10-05 8 5/16" 1/2-20
5400-12-04 6 1/4" 7/16-20
5400-12-05 8 5/16" 1/2-20
5400-14-06 10 3/8" 9/16-18
5400-16-06 10 3/8" 9/16-18
5400-16-08 12 172" 3/4-16
5400-18-08 12 172" 3/4-16
5400-18-10 14-16 5/8" 7/8-14
5400-22-10 14-16 5/8" 7/8-14
5400-22-12 18-20 3/4" 1.1/16-12
5400-27-12 18-20 3/4" 1.1/16-12
5400-27-16 25 1" 1.5/16-12
5400-33-16 25 1" 1.5/16-12
5400-42-20 30 1.1/4" 1.5/8-12
5400-48-24 38 1.1/2" 1.7/8-12

KoHHekTOp 90° perynupyembin
yAnuHeHHbIn JIC/meTpuka DIN
3852-2

Long Adjustable Elbow JIC/Metric DIN 3852-1

Pe3bba/ Thread:
Metric Parallel

@ tube
part number

Dimensions

M10x1
M10x1
M12x1,5
M12x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5
M27x2
M27x2
M33x2
M42x2
M48x2

23
24
27
27
27
29
32
32
37
37
42
42
46
46
52
59

Dimensions

27
32
32
32
38
38
40
41
43
45
52
52
53
58
67

14
14
14
14
19
19
19
22
22
27
27
33
33
41
48

14
17
17
19
22
22
24
24
27
27
36
36
41
50
60

-__E---_

/

L%

5405-10-04 6 1/4" 7/ 16-20
5405-10-05 8 5/16" 1/2-20
5405-12-04 6 1/4" 7/16-20
5405-12-05 8 5/16" 1/2-20
5405-14-06 10 3/8" 9/16-18
5405-16-06 10 3/8" 9/16-18
5405-16-08 12 172" 3/4-16
5405-18-08 12 172" 3/4-16
5405-18-10 14-16 5/8" 7/8-14
5405-22-10 14-16 5/8" 7/8-14
5405-22-12 18-20 3/4" 1.1/16-12
5405-27-12 18-20 3/4" 1.1/16-12
5405-27-16 25 1" 1.5/16-12
5405-33-16 25 1" 1.5/16-12
5405-42-20 30 1.1/4" 1.5/8-12
5405-48-24 38 1.1/2" 1.7/8-12

M10x1
M10x1
M12x1,5
M12x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5
M27x2
M27x2
M33x2
M42x2
M48x2

23
24
27
27
27
29
32
32
37
37
42
42
46
46
52
59

50
54
54
57
67
67
67
75
78
88
95
105
105
124
141

14
14
14
14
19
19
19
22
22
27
27
33
33
41
48

14
17
17
19
22
22
24
24
27
27
36
36
41
50
60

32-F



LI/
[ 1/}

MM,

5410

KoHHekTOp 45° perynupyemMbin

JIC/meTpuka DIN 3852-3

Adjustable 45°Elbow JIC/Metric DIN 3852-1

Pe3bb6a/ Thread:
Metric Parallel

@ tube
part number

5410-10-04 6 1/4"
5410-10-05 8 5/16"
5410-12-04 6 1/4"
5410-12-05 8 5/16"
5410-14-06 10 3/8"
5410-16-06 10 3/8"
5410-16-08 12 172"
5410-18-08 12 1/2"

5410-18-10 14-16 5/8"
5410-22-10 14-16 5/8"

5410-22-12 18-20 3/4"
5410-27-12 18-20 3/4"
5410-27-16 25 1"
5410-33-16 25 1"
5410-42-20 30 1.1/4"
5410-48-24 38 1.1/2"

1/2-20
7/16-20
1/2-20
9/16-18
9/16-18
3/4-16
3/4-16
7/8-14
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/16-12
1.5/8-12
1.7/8-12

Dimensions

M12x1,5
M12x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5
M27x2
M27x2
M33x2
M42x2
M48x2

33-F



5420 Perynupyembii TPOMHUK
meTpuka DIN 3852-1/JIC

Adjustable Run Tee Metric DIN 3852-1/JIC

Pe3bb6a/ Thread:
Metric Parallel

@ tube Dimensions

part number

-__B---_

5420-10-04 6 1/4" 7/16-20 M10x1 23

5420-10-05 8 5/16" 1/2-20 M10x1 24 27 14 14
5420-12-04 6 1/4" 7/16-20 M12x1,5 27 32 14 17
5420-12-05 8 5/16" 1/2-20 M12x1,5 27 32 14 19
5420-14-06 10 3/8" 9/16-18 M14x1,5 27 32 14 17
5420-16-06 10 3/8" 9/16-18 M16x1,5 29 38 19 22
5420-16-08 12 1/2" 3/4-16 M16x1,5 32 38 19 22
5420-18-08 12 1/2" 3/4-16 M18x1,5 32 40 19 24
5420-18-10 14-16 5/8" 718-14 M18x1,5 37 41 22 24
5420-22-10 14-16 5/8" 7/8-14 M22x1,5 37 43 22 27
5420-22-12 18-20 3/4" 1.1/16-12 M22x1,5 42 45 27 27
5420-27-12 18-20 3/4" 1.1/16-12 M27x2 42 52 27 36
5420-27-16 25 1" 1.5/16-12 M27x2 46 52 33 36
5420-33-16 25 1" 1.5/16-12 M33x2 46 53 33 41
5420-42-20 30 1.1/4" 1.5/8-12 M42x2 52 58 41 50
5420-48-24 38 1.1/2" 1.7/8-12 M48x2 59 67 48 60

B B
5425 Perynupyembii TPOMHUK ﬂm 5
meTpuka DIN 3852-1/JIC ”L =

Adjustable Branch Tee Metric DIN 3852-1/JIC

Pe3bb6a/ Thread:
Metric Parallel

part number -

-__E---_

5425-10-04 6 1/4" 7/16-20 M10x1 23

5425-10-05 8 5/16" 1/2-20 M10x1 24 27 14 14
5425-12-04 6 1/4" 7/16-20 M12x1,5 27 32 14 17
5425-12-05 8 5/16" 1/2-20 M12x1,5 27 32 14 19
5425-14-06 10 3/8" 9/16-18 M14x1,5 27 32 14 17
5425-16-06 10 3/8" 9/16-18 M16x1,5 29 38 19 22
5425-16-08 12 172" 3/4-16 M16x1,5 32 38 19 22
5425-18-08 12 172" 3/4-16 M18x1,5 32 40 19 24
5425-18-10 14-16 5/8" 7/8-14 M18x1,5 37 41 22 24
5425-22-10 14-16 5/8" 7/8-14 M22x1,5 37 43 22 27
5425-22-12 18-20 3/4" 1.1/16-12 M22x1,5 42 45 271 27
5425-27-12 18-20 3/4" 1.1/16-12 M27x2 42 52 27 36
5425-27-16 25 1" 1.5/16-12 M27x2 46 52 33 36
5425-33-16 25 1" 1.5/16-12 M33x2 46 53 33 41
5425-42-20 30 1.1/4" 1.5/8-12 M42x2 52 58 41 50
5425-48-24 38 1.1/2" 1.7/8-12 M48x2 59 67 48 60

34-F



WJJWPM l 111

[

L]
[ 1/}

MM,

5037

5040

Apantep JIC/meTpuka ynnotHeHme ED

Connector swivel JIC female X Metric male with

"ED" seal

Pe3bb6a/ Thread:
BSPP (Form E DIN 3852)

@ tube
part number

5037-10-04 6 1/4"
5037-10-05 8 5/16"
5037-12-04 6 1/4"
5037-12-05 8 5/16"
5037-14-05 8 5/16"
5037-14-06 10 3/8"
5037-16-06 10 3/8"
5037-16-08 12 1/2"
5037-18-08 12 172"
5037-18-10 16 5/8"
5037-20-10 16 5/8"
5037-22-10 16 5/8"
5037-22-12 20 3/4"
5037-27-12 20 3/4"
5037-27-16 25 1"
5037-33-16 25 1"
5037-42-20 32 1.1/4"
5037-48-24 38 1.1/2"

3arnywka wrtyuep UNF

UNF male plug

Pe3bba/ Thread:
UNF/UN (ISO 11926-1)

part number

5040-04
5040-05
5040-06
5040-08
5040-10
5040-12
5040-16

J

I

'§__

IIIIIMHIIIIIIIIIIIIIIIEIIJIIIIIIIIIIIII

7/16"-20
1/2"-20
7/16"-20
1/2"-20
1/2"-20
9/16"-18
9/16"-18
3/4"-16
3/4"-16
7/8"-14
7/8"-14
7/8"-14
1.1/16"-12
1.1/16"-12
1.5/16"-12
1.5/16"-12
1.5/8"-12
1.7/8"-12

M10x1
M10x1
M12x1,5
M12x1,5
M14x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M20x1,5
M22x1,5
M22x1,5
M27x2
M27x2
M33x2
M42x2
M48x2

8
8
8
8

Dimensions

7/16" - 20
1/2" - 20
9/16" - 18

3/4" -

16

7/8" - 14
1.1/16" - 12
1.5/16" - 12

24,5
26,0
24,5
26,0
26,0
26,8
27,3
29,6
30,6
34,6
35,6
36,1
36,2
36,7
40,4
41,4
43,8
51,3

17
14
17
17
19
19
22
22
27
27
27
32
32
41
41
50
60

14
17
17
19
19
22
22
24
24
27
29
27
32
32
41
50
55




Wil press /"" = JIC Adaptors

J605 3arnyLwka wryuep

Male plug

part number -
-————

J605-04 7/16" - 20
_-_____
J605-06 9/16" - 18
_-_____
J605-10 7/8" - 14
_-_____
J605-14 1.3/16" - 12
_-_____
J605-20 1.5/8" - 12

J608 3arnywka ranka

Female Plug Swivel

part number -
-————

J608-04 7/16" - 20

J608-06 9/16" - 18

* SAE 45°_-_____

J608-08 3/4" - 16

J608-12 1.1/16" - 12

J608-16 1.5/16" - 12

J608-24 1.7/8" - 12

Fluid Power Care 36-F IMM Group



